90034: DuoGen-2 & DuoGen-3 water
drive standard

10325B 10063 10062 / 10310B Part

\ A 10326
o 5o /

Description Quantity

Code
Washer, M10, form A
/ 10106 omm thick), A4 2

Pin drive water hub
10362 bearing nyloil

Pin drive water shaft
10363 bearing nyloil

Screw, M4 x 12, socket
10214 c/sink, A4

10056 Wateraxle
10057 Waterpin

Waterimpeller, standard,

10058B machined, anodised,

painted
Water bracket 2,

10310B machined, anodised,

painted

10325B Diving plane 2 machined,
anodised, painted

Screw M8x30 Button

10326
10214x3 i
10062 A4as er , form ( |n),

10058B 10063  Nut, M8, nyloc, A4

10362 20023 cCord, 3mm blue

- 10219 S
10206 Sgi;etvx/,lssgﬁléelﬁet, cone

/// 10057 x6 to20s S0 5

Screw, socket set, M4 x
10207 16 cone, A4

10363 90034: Water drive standard 10531  Shim 19-24 9.25mm

/ 10532 Shim 10-24 0.5mm

stainless 304

10208 10207 RECLECTIC
\ . . ENERGY |

www.eclectic-energy.co.uk




